[image: image3][image: image5.png]




[image: image4.png]


[image: image1.jpg]2023 FEMPRBARKE—AERE—RBEERXE
MBS EER

LORALFRAE IR
2.1 RAHEGR) )
3Tk R

4R R AR
5.10 50 120

6. FHACHEIS AR BN R A B FA)Z 030N S R et T PN TR AR R B
CERAME— S 3Epar)

7.A 8D 9.C 10.B 11.C 12.D 13.BD 14.AC

15. QB iR -

16. L& iR -

0
G
17, (D[] —p )% -
(2)10
) RARML
PEOMPRUE B2 1 43 38 4 43 AT HAL & B RIS M 4y
18. (A
(2)58

(3)20  2.9X10° ik
CA) FRARARE RSN A7 A0 S A7 B K A B B CA B D)
WEorbRAE RS 1 43 38 6 43 AT Al Wﬁ%‘i’ﬁ%"ﬁ’% i

[E - BXER F10(3£27)) + 23~ CZ167c +




[image: image2.jpg]19.

20.

DU FR -

(2WiFF B
() LA IE TR AL S T
5 EL

I,

(¢

3

) FRKEH A P E B b -

PEAMbRUE AR 2 43 AR BEAS 140,38 9 40 AT HAL A S RIS B IR oy
(OB 10 ik (1 4»

(2) JCRE B b T ) P 5 <

Fy 28 kgX10 N/kg
PTTS T 200X10 " m?

(3) R PRI T R TE R HL A A A TR TCRE 1 min PG T 5 L <
h=40X15 em=600 cm=6 m (1 4})

TERERLXS ST P10 20«

Wiy =Gy h=my gh=180 kg><X10 N/kgX6 m=1,08X10" ] (14}
TERERL S MR AR T X ST S i 46

Wy _1.08X<10"J

1.4X10' Pa (34

» £ = A
p=¥ A0 g0 w g
CCOIER (14D
(2) 7K ik«
13
Qu__ Quan 4. 2X107] L25X10° kg (349

TR e AL cx A 4. 2X107 J/(kg + 'C) X80 C

(3)4000 ¢ J5E5¢ A MABECH o FAdiE «

Qu=my qu =4000X10° kgX3X10" J/kg=1.2X10" ] (14}
20 h A HidE

Wy =Pt=5X10" kWX 20 h=10" kW « h=3.6Xx10" ] (14}
AR g

Qi =W +Qug =3. 6X10" J+4.2X 10" J=7, 8X10" ]
S

13
%‘i”xmo% Z'giignjxmo%-es% a4p
i .

CIOIBRRR TR 754y (14 R R, (140 (SRS GE LR %R






[image: image5.png]学科网（北京）股份有限公司

